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Name ............................................................ CIass ............................... Date
i1 6= 2 | 600 X 100 =
3 —0.5=05 4 | 6759+ 8 =
5 = 3287 X 9 G | 7435 = X 5
v _%MF%: 8 X 5=28+22
9 |15-3+4)= 10| 5 of36=
M| X+ = 12 | 10% of 320 =
13 .%_+%ﬁ= 14 | 7.6341 + 1000 =
3
15 | 8346+ 59+ 645931 = 16 -3
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Spring Test 5 (continﬁed)

17 | 5% of 140 = 18 = 384.2 — 79.56
49 1569=124 — 20 | 6000 — 3058 =
2914|6356 221 6=2154+
615 oo
253116014 @matst| | 26 = 15% of 360
97| 8629 ot Total marks /30
X 54
How We“ did YOU dO? * with correct place value {15 [ 18 § 19
Colour the numbers of the — with zeros 20|23
questions you got correct, sorxby10,1000r1000 | 2 | 14
tong x and long + 24125| 27
Fractions 71101113
Percentages of amounts | 12 | 17 1 26
Missing humbers 3|6|8i116119]22]23
Brackets g
+ 3171819113715
- 9118192023
X 1121511010 |17 |24126]27
+ 46 |8110]12[14]16 7i21|22125|26
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